W T ——AFRERES

AIl'TAL

PC. POC#J3I

R an 3T 19 55

PC 6 01 ] [1-S

e

OMERS QEENE QEZIRY GEmBERS BFRRES OHRRES
PC. BNE®E — EBRY  EABBE0R S HeEX
=17 4. 02 'M5. M5X0.8 ®4, ®6 | __
!!!!Iﬁlgl 6: @ 622 ’(’)’1’ n ’P’_l’_{/’s’ o ’3 ”””””””” ?E H U(@ 3 }%D yy@/
8. 08 : ‘o4 ©F | foommmmea (e =0, PT S: FEEIN304
POC. EIRLEE 10, ©10mm 02: PTI/A | o8O0 | 5. PTE E
12: ®12mm 03: PT3/8 | g1p D: ®® #D: R&
04:. PT1/2 !
i eg BEOmBYaS5HERNEERER
ERENTER 0~10kgf/cm’(0~1.0MPa) =R &S| B WEQE
AR —750mmHg(10Torr) - V5 CD.4 03.6 o8 ©10 ©12
BRI £ 1.5MPa PT1/8 ° ° ° ° °
FRRESEE (°C) —-20~70 PC PT1/4 ° D ° ® °
ERNE BB TPUE Eﬁg : : : :
i) We/Re ME ° °
PT1/8 D ° ° D
POC PT1/4 D ° ° ° °
= PT3/8 D D °
PT1/2 ° °
1. MMM RATEN04, EFTEMRIYASE, .
TFET RS, i
2. BEEHEBHF, MEAH PCE5I FS| &% | #E KFS| &R ME
N 1 |8BRED| POM | 4 | EBAIE | POM
BONBHNS, BERESOE 2 | BhA ES 5 2105 NBR
BEINTTER; 3 | BERR BN 6 | AR | AEEIN304

3. EREOSHHFSERESRETNE,

PRI ER K,
SMERELAE
oD
PC&3I == POCEJI
H
| o
| o M5#11%
T4 ==
- —
E/ R b
T
BES\BS | oD R L c K ¥inH | EE(g)
PC4M5-S M5x0.8 3.5 | 19.5 14 9
PC401-S | 4 PTi/8 | 7.5 | 195 14 10 6.5
PC402-S PT1/4 | 10 19.5 14 14 12.5 sw%s ob| R P T L c K THilH BB
PC6M5-S M5x0.8 3.5 | 22.6 | 16.5 | 12 8 P%&,ﬁis MEx08 o | 35 i85l 14 3”2’&5 i;_‘ég)
_PC601-5 | PT1/8 | 7.5 | 220 | 185 | 12 / POC401-S | 4 | PT1/8 | 10 | 7.5 | 18 | 14 | 3 5
PC602-S | 6 PT1/4 | 10 245 | 185 14 14.5 5064078 eTia a4 T 10 1951 12 3 TE
PC603-S PT3/8 | 11 225 | 185 17 22 — ' :
m PT1/2 14 26.0 185 21 49 POC6M5-S M5 x 0.8 12 3.5 21.5 16.5 2.5 5.5
5e801—5 FTis T 75 28 58 T 5E POC601-S | 6 | PTi/8 | 12 | 7.5 | 22.0 | 185 | 4 6
“PC807-S | BT1/a 10 57 aE ¥ 2 POC602-S PT1/4 | 14 | 10 | 22.0 | 185 | 4 11
PC803-S| ° [ PT3/8 | 11 | 235 | 185 | 17 | 195 POC801-S PT1/8 | 14 | 75 1265 18 | 5 9
PC804-S PT1/2 14 27 185 21 40 POC802-S 8 PT1/4 14 10 25 18 6 9.5
PC1001-S PT1/8 75 30 21 17 19 POC803-S PT3/8 17 11 12356 ] 18 6 18
PC1002-S PT1/4 10 32.5 21 17 292 POC1001-S PT1/8 17 7.5 30 21 5 156.5
PC1003-s 'O PTae 11 28 21 17 79 POC1002-S | | o | PT1/4 | 17 | 10 | 29 | 21 6 14.5
PC1004-S PT1/2 14 26.5 21 21 33 POC1003-S PT3/8 17 11 28 21 8 17.5
PC1201-S PT1/8 | 75 | 325 23 21 355 POC1004-S PT1/2 | 21 | 14 | 265 | 21 8 | 32.5
PC1202-S| ,, |PT1/4 | 10 35 23 21 37.5 POC1202-S PT1/4 | 21 | 10 | 34.5| 23 6 30
PC1203-S PT3/8 | 11 30.5 23 21 26.5 POC1203-S | 12 | PT3/8 | 21 | 11 | 30 | 23 8 23
PC1204-S PT1/2 | 14 32.5 23 21 38.5 POC1204-S PT1/2 | 21 | 14 | 32 | 23 8 | 34.5



W T ——AFRERES

AIl'TAL

HmE—ggsk
R iT %5
PL 6 01 [] []-S
d) ‘(25‘\3/ @ @ @
T } [ [
DOMERS QEENsE QEZIBLY GBmBERS GFEHRES OHERS
PHW. FRURAOfe=)8 1 PZB: +IRNO0E &%m;'«'izxz 7777777 ﬁ %ﬁ}?fé@@ rf;ﬁ@ﬁ%fﬁ@i&{ 777777777777
: i 1o B0 @
M5 l\/l5><0.83®4, 06 =8 U‘@}Z&%: W,
4. ®4dmm ' '
6: ®6mm ‘ ‘
8. ®8mm =8: PTH | S: F5HN304
| 10: ®@10mm
PED. TRUBSI=E | PH. S ERD L
: 01: PT1/8 o4 06 3
02: PT1/4 ’ B0 ke
PYB: YRURLI =& 03. PT3/8 $a13,2o1o D: & AR BE
[ 04: PT1/2 |
. H:}J
PKD 6-4 01 [] [] -S
X %2)\3 4)(5 \? 7
| | |
ORERS QrENE (©)::3-n k3 @FEFERE OHERS OFRRKS DOHBERS
PKD: JB{RIENRIE mers EIEBEN.
6: ®6mm 4. ®4mm 01: PT1/8 [T TEO. we
8. ®8mm 6. ®6mm 02: PT1/4 =8 K& R =8, PTY S: EBiN304
10: ®10mm 8. ®8mm 03. PT3/8 D@ ””””” 0. 28
K B
FaiFtE BEORBRY S5HEERNEERER
1. REBIRB0A R RiE S RIS PO P— mEOR =5 | | EEOE
2. EEZNASIIG, | BMBTIESNRL: " ‘D.4 ‘D.G ©8 |©10 12 =5 M | 06-04| ©8-06|D10-08
3. RBMEELE, TEYSSBEREASEZRE; s e e & e e PT1/8| @
4, KiBBEERBSBRE, SSEEEDNELETFEXMMA; PL P/ | ®@ | ®  ®© e | @ PKD |PT1/4 °
5. BB HREBHA, MEAHIRMMBIER, HIRRN PT3/8 o o [0 | @ PT3/8 °
EEID TR PT1/2 R
M5 e o
o PT1/8 | @ | ®@ | ®@ | @
L PLL [ PT1/4 | @ | @ | @ | @ | @
PT3/8 e | o | o o
ERENEE 0~10kgf/cm’(0~1.0MPa) PT1/2 e o
AlE ~750mmHg(10Torr) M5 e | o
AR
1@%&573? (C) \—20~7o PYB PT3/8 e o o o
ERRE [ERRETPUE PT1/2 e o o
e RE/FRE M5 RO
PH PT1/8 | ® | @ | @
204t PT1/4 e | o | o
P ER% 1 PHF 138 e o (o o
PT1/2 e o | o
KFS &% #HE PT1/8 | @ | @ | @
1 EERED POM puw |_PT1/4 e o o
2 miEn | ma PT3/8 e | o | o [ o
. PT1/2 e o [ o
3 BERH FHN PT1/8 e | o
4 | B | POM P7B PT1/4 e o | o
5 |2R0S NBR PT3/8 [ ] [ ] [ ] [ )
o | =% BT PT1/2 e o o
7 | ORUIA NBR
8 BBk SUS304

284



o

W T ——AFRERES

AIl'TAL

HmE—ggsk
SpERILE
PL%;“ PYB%E] DC T T e T T
2-0P | / :
2-0D 6
EA [ 1 !
K T T ]| Q ”/ |
il < —r—
an AR
i N ‘ : ‘j
. FT?%J& o) °
B \ M5# 1%
L NR
T H ©) r =
1 —
R L zR
RMEFE | oD R oP K EA | EB [3tiBH|EE(g) BMEBFS oD R OP| L | C | K o®J| JA | DC 3tihHE=E(g)
PLAM5-S M5x0.8/ 9 | 35| 14 | 17 | 156 | 8 3 PYB4M5-S M5x0.8 9 |3.5(35.5 14 |32/ 13|10 9 | 65
PL401-S| 4  PT1/8 | 9 |75 14 | 17 |185]| 10 | 45 PYB401-S| 4 | PT1/8 | 9 (7.5/39.5/ 14 |32/ 13|10 | 10 | 85
PL402-S PTA/4 | 9 | 10 | 14 | 17 |220 14 | 1 PYB402-S PT1/4 | 9 | 10 |42.5 14 | 3.2 13| 10| 14 | 10
F;';_%’g'?:g MF?Tf/OéB lgg 32 1; 58 ;é:g 180 465 PYB6M5—S MB5x0.8/12.5/ 3.5 |40.5/16.5/ 3.2 |16.5| 12 | 12 | 10.5
Pr602=S| 6 [ FTi/a 7251 10 T 77 20 T240 14 725 PYB601-S | | PT1/8 [12.5/7.5/44.5(16.5/3.2[15.5 12| 12 | 13
PL603S PTa/8 (125 11 | 17 20 2585 17 9 PYB602-S PT1/4 [12.5/ 10 |47.5/16.5/3.2156.5 12 | 14 | 17
PL604-S PT1/2 | 125 14 17 20 | 300 21 33 PYB603-S PT3/8 [12.5/ 11 149.0/16.5| 3.2 |15.5| 12 17 23.5
PL801-S PT1/8 15 75 [ 185 23 [205] 10 7 PYB801-S PT1/8 | 16 | 7.5 | 50 [18.5/3.2| 17 |14.5] 14 19
PL802-S| o | PT1/4 | 15 | 10 | 185 23 [25.0 | 14 | 12 PYB802-S | | PT1/4 | 15| 10 [52.5118.5/3.2 | 17 [14.5] 14 | 21
PL803-S PT3/8 | 156 | 11 | 185 23 | 265 17 | 19.5 PYB803-S PT3/8 | 15| 11 | 54 |18.5/3.2| 17 [14.5| 17 | 26
PL804-S PT1/2 | 15 | 14 185 | 23 [31.0| 21 33 PYB804-S PT1/2 | 16| 14 | 58 [18.5/3.2| 17 [14.5] 21 38
PL1001-S PT1/8 | 18 | 7.5 | 21 26,6250 17 | 155 PYB1001-S PT1/8 | 18 | 7.5 |56.5 21 |4.3|19.5| 18 | 17 | 26
PL1002-S ,, | PT1/4 | 18 | 10 | 21 |25.5/27.0| 17 | 18 PYB1002-S PT1/4 | 18 | 10 | 59 | 21 | 4.3 (195 18| 17 | 28
PL1003-S PT3/8 | 18 | 11 | 21 12565/28.0] 17 | 20 PYB1003-S| 'O | PT3/8 | 18|11 | 60 | 21 4.3[195 18 | 17 | 31
PL1004-S PT1/2 | 18 | 14 | 21 | 255 325 | 21 | 345 : :
FL1707-3 PTi/s 21 |75 23 285 265 17 . PYB1004-S PT1/2 | 18 | 14 | 64 | 21 | 4.3]19.5 18 | 21 | 42,5
PL1202-S ,, | PT1/4 | 21 | 10 | 23 285 285 17 | 205 PYB1202-S PT1/4 | 21| 10 | 66 | 23 |4.3] 21 [20.5| 21 | 26.5
PL1203-S PT3/8 21 11 23 | 295 33 17 24 PYB1203-S 12 | PT3/8 | 21 | 11 | 67 | 23 |4.3| 21 |20.5| 21 49
PL1204-S PT1/2 | 21 | 14 | 23 | 295 34 | 21 | 345 PYB1204-S PT1/2 | 21 | 14 | 70 | 23 [ 4.3| 21 [20.5| 21 | 63.5
PED %3 . PZBZ3I
= : L%
«<| ¥ i Iéggbl i v |
39 [0k Taniir S
‘ ol r 2 T af PG 1
B S - DN R = R
| i o T L2 I <
e Ly | § b
- | o K
w w 2-0J
H H
1] ) : - "
BEVEE [oD| R oP| K | L |EA|[EB | ©J| JB [3:zHEE(g) | Jc
PED4M5-S M5x0.8| 9 |14 |35|17 |21 32|65 9 | 65 |
PED401-S| 4 | PT1/8 | 9 |14 |75 17|25 (32|65 10 | 85 #MEvEE (oDl R |[L|/A|[E | Cc| K |oP/oJ/JB|JC 3tiaHEE(g)
PED402-S PT1/4 | 9 |14 10|17 | 28 [3.2]6.5 14 | 145 | PzB601-S PT1/8/7.5 27.547.5 12 | 145
PED6M5-S M5x0.8[12.5[16.5[ 3.5 [ 20 23.5/3.2| 8 | 12 | 10.6 | PZB602-S 6 |PT1/4| 10 39.530.550.516.512.53.2| 8 | 16| 14 | 19.5
PED601-S | | PT1/8 |12.5/16.5[ 7.5 20 [27.5/32 8 | 12 | 13 ' PZB603-S PT3/8| 11 3252 17 | 255
PED602-S PT1/4 |12.5/16.5| 10 | 20 |30.5/3.2| 8 14 17.5 | PZB801-S PT1/8/7.5 30.553.5 14 20
PED603-S PT3/8 |12.5(16.5| 11 | 20 | 32 | 3.2 | 8 17 23.5 | P7ZB802-S PT1/4| 10 33 | 56 14 22.5
PED801-S PT1/8 | 16 |18.5 7.5 | 23 |30.56/ 4.3 | 9.5 14 | 17.5 | pzB803-S| ° PTa/8 11| 20 Ga sy 5 09 19 43195119 o 0g
PED802-S | | PT1/4 | 15 [18.5[ 10 | 23 [ 33 43195 14 | 20 | PZB804-S PT1/2 14 38.561.5 21 | 405
PED803-S PT3/8 | 15 18.5| 11 | 23 [34.5/4.3 | 95| 17 | 265 | PZB1002-S  |PT1/4 10 36.5 63 17 | 32
PED804-S PT1/2 | 15 [18.5 14 | 23 |38.5/4.3| 9.5 21 | 38 | PzZB1003-S 10 PT3/8| 11 52.537.5 64 |21 |18 |4.3 11|22 | 17 | 35
PED1001-S PT1/8 | 18 | 21 | 7.5 |26.5| 34 | 4.3 | 11| 17 | 25.5 | PZB1004-S  |PT1/2 14 415 68 21 | 465
Peo10055 10| Pras |15 | 21| 11 126878 48 11 17 | 30 poaiate s "2 pros e SO ae 7e 23| 2114313 26 2 0F
- 5|37.5/ 4. | PZB1204-S ' “ [PT1/2] 14 45 | 75 21 62
PED1004-S PT1/2 | 18 | 21 | 14 |26.5/41.5/4.3 | 11 | 21 | 425 |
PED1202-S PT1/4 | 21 |23 10|30 |41 [43[13] 21 | 47
PED1203-S| 12| PT3/8 | 21 | 23 | 11 | 30 | 42 |4.3| 13 | 21 | 485
PED1204-S PT1/2 | 21 | 23| 14 |30 | 45 |4.3| 13 | 21 | 54

L

285




o
W T ——AFRERES AIl'TAL

BE—gyx
PLLE 5! EA - PHWZ I
K | EA
H
f== ] 2_K
Y J =i I
) —r &
8] ]
‘ o | =
o | (@] f
it | =t - i
‘ ‘ |
‘ ° i
L
T H _
B R
R
' |
BMEES [oD| R ©P | K | L | EA | EB |3iH E®(g)  HMSVES oD R |OP| L | C | K |[EA| EB | DC|%iH &&(g)
PLLAM5-S M5x0.8 9 | 14 | 35| 17 |325 8 8 | PHW401-S| 4 |PT1/8] 9 |7.5| 38 | 14 20.5[14.5| 13 | 11 | 17.5
PLL40T-S | 4 | PTY/8 | 9 | 14 | 7.6 | 17 |385.5| 10 | 11.6 | "puwe01-S PT1/8/12.5| 7.5 | 38 |16.5/23.0| 15 | 13 | 11 | 19.5
PLL402-S PT1/4 | 9 | 14 [ 10 | 17 1885] 14 | 155 | “pi\yg02-S| 6 |PT1/4/12.5 10 43.5/16.5/25.017.5 16.6| 14 | 37.5
PLLEMS-S M5x0.8 12.5 17 | 35|20 1345] 8 | 95 | PHW603-S PT3/8[12.5| 11 | 50 16.5/27.0| 20 |16.5| 19 | 64
PLL601-S | | PT1/8 [12.6| 17 | 7.6 | 20 |37.6| 10 | 12 | . : 2|27 :
PLLG07_S PT1/4 (125 17 | 10 | 20 405 14 | 165 . PHW801-S PT1/8| 15 | 7.5 |40.5/18.5/26.5/16.5/15.5| 11 | 22.5
PLL603-S PT3/8 | 125 17 11 20 43 17 215 . PHW802-S s PT1/4 15 | 10 |43.5/18.5/28.5/18.5/15.5| 14 38
PLL801-S PT1/8 | 15 185 | 7.5 | 23 |43.5 12 | 155 | PHWB803-S PT3/8 15 | 11 | 50 |18.529.5| 20 |16.5 19 | 65
PLL802-S | 8 | PT1/4 | 15 |18.5| 10 | 23 455| 14 | 21 . PHWB804-S PT1/2| 15 | 14 | 61 |18.5 32 |24.5| 22 | 24 | 1335
PLLB03-S PT3/8 | 15 |1856| 11 | 23 | 48 | 17 | 25.5 ! PHW1002-S PT1/4| 18 | 10 [46.5/ 21 | 31 | 20 [18.5| 14 44
PLL100T-S PT1/8 | 18 | 21 | 7.6 12565 5051 15 | 35 | pHW1003-S| 10 |PT3/8| 18 | 11 | 66 | 21 |33 |21 |22 | 19 | 81.5
PLL1002-8) 4o | PT1/4 | 18 | 21 | 10 255 835 15 375 | pHwi004-S|  |PT1/2 18 | 14 | 61 | 21 (36,5 25 | 22 | 24 | 1275
PLL1003-S PT3/8 | 18 | 21 | 11 |25.5 545 17 | 38 W < Tasl 21 11 58 T23 1 36 23 22 1 15 1 865
PLL1004-5 PT1/2 | 18 21 | 14 | 255 59 | 21 | 44 : 1203-8| ., |PT3/ :
PLL1202-S BT1/a 21 | 23 | 10 285 555 15 | 40 | PHW1204-5 PT1/2| 21 | 14 | 61 | 23 | 38 |26.5| 22 | 24 | 1375
PLL1203-S| 12 | PT3/8 | 21 | 23 | 11 295 60 | 17 | 51.5
PLL1204-S PT1/2 | 21 | 23 | 14 295 63 | 21 | 525

BE\FS | oD R oP | L c K E [xiH|E®(@ @ E=VES oD RA | RB |OP|LA|[LB| C | K | E RiaHEE(g)
PHAM5-S || M5x0.8 9 |35 17 [ 14 | 19 8 55 | PHFAM5-S | [M5x0.8/M5x0.8) 9 |3.6| 6 | 20 | 14 19| 8 6
PH401-S PT1/8 | 9 | 75| 25 | 14 [205] 11 12 | PHF401-S PT1/8| PT1/8| 9 |7.56| 8 [29.5 14 20.5| 12 | 12
PH6M5-S M5x0.8 125 35 | 17 |16.5 235 | 8 65 | PHF6M5-S M5x0.8/ M5x0.8(12.5 3.5 | 6 | 20 [16.5/23.5/ 8 7
PHE01-S | . [ PT1/8 1256/ 75 | 25 [16.5 23 | 11 13 . _PHF601-S | . [PT1/8/PT1/8[12.57.5| 8 [29.5[16.5/23 | 12 | 13
PH602-S PT1/4 [12.5| 10 | 28 |16.5| 25 | 14 | 235 | PHF602-S PT1/4| PT1/4 112,50 10 | 11 | 35 [16.56| 25 | 17 | 28
PH603-S PT3/8 | 12.5| 11 | 33 |[16.5| 27 | 19 | 465 | PHF603-S PT3/8| PT3/8 12,5/ 11 | 12 | 40 [16.5/ 27 | 19 | 41
PH801-S PT1/8 | 15 | 7.5 | 25 [18.5[26.5| 11 14 ! PHF801-S PT1/8| PT1/8|15|7.56| 8 [29.5/18.5/26.5| 12 | 14
PH802-S | . | PT1/4 | 15 | 10 | 28 |18.5/28.5 14 | 245 ! PHF802-S g |PT1/4/PT1/4 15/ 10 | 11|35 [18.5[28.5/ 17 | 28.5
PH803-S PT3/8 | 15 | 11 | 33 |18.5/295, 19 | 4555 | PHF803-S PT3/8| PT3/8| 15| 11 | 12 | 40 [18.5/29.5| 19 | 41.5
PH804-S PT1/2 | 15 | 14 | 39 [18.5] 32 | 24 82 ! PHF804-S PT1/2| PT1/2 | 15| 14 [13.5(47.5/18.5| 32 | 24 | 78
PH1002-S PT1/4 | 18 | 10 | 28 | 21 | 31 14 26 . PHF1002-S PT1/4| PT1/4 11810 | 11|35 |21 31| 17 | 30
PH1003-S| 10 | PT3/8 | 18 | 11 [ 33 | 21 [ 33 [ 19 | 47.56 | PHF1003-S |10 PT3/8/ PT3/8 18| 11|12 |40 21|33 | 19 | 43
PH1004-S PT1/2 | 18 | 14 [ 39 | 21 [355| 24 | 816 | PHF1004-S PT1/2| PT1/2 | 18| 14 [13.5/47.5) 21 |35.5| 24 | 79.5
PH1203-S| [ PT3/8 | 21 | 11 | 33 | 23 | 36 | 19 | 495 | PHF1203-S|  [PT3/8/PT3/8 |21 11 |12 40 [23[36| 19 | 45
PH1204-S PT1/2 | 21 | 14 | 39 | 23 | 38 | 24 86 . PHF1204-S PT1/2| PT1/2| 21| 14 [13.5/475/ 23 | 38 | 24 | 83
PKD %5l JC
3-oPB i i ®meEvEs | oDA| oDB| R L A | oPA| oPB| KA
3-0DB v i m i PKD6-401-S 6 4 | PT1/8| 7.5 | 66.5 | 12.5 9 16.5
| ! |
2_0J ) ; ; PKD8-602-S | 8 6 | PT1/4| 10 79 15 | 12.56 | 18.5
H 3 o ! PKD10-803-S 10 8 |PT3/8 11 | 915 | 18 15 21
R i
- w I = BES KB oJ | JB Jc DC E | 3ihH E&E(g)
AR 1 i < PKD6-401-S | 14 3.2 8 34 10 | 175 | 12 15
&)@ = L ['H] PKD8-602-S | 16.56 | 3.2 | 9.5 40 12 21 14 | 255
KA_| |_DC|DC L PKD10-803-S| 18.5 | 4.3 1M 48 | 145 | 24 17 | 365
A

O 286



o

W T ——AFRERES

AIl'TAL

mE— g
PEBZRJI
2-EA >
2-K .
u \
ol o 4 i
@ 5 T2l S |
= [SNHIFN] i
[a]
n M55
m
w
L
R
#eviEE ob| R |[oP| L | K |[EA[EB| 0J]| JB [3tiH| E&(g)
PEB4M5-S M6x0.8/ 9 35|14 |17 | 21 32|65 9 6.5
PEB401-S | 4 | PT1/8 | 9 |76 | 14 |17 | 256 |3.2|6.5| 10 8.5
PEB402-S PT1/4 | 9 |10 | 14 | 17 | 28 |3.2 /6.5 | 14 14.5
PEB6M5-S M5 x0.8/12.5/ 3.5 |[16.6| 20 |23.56 3.2 | 8 12 10.5
PEB601-S 6 PT1/8 |12.56| 7.6 |16.5| 20 |27.56/ 3.2 | 8 12 13
PEB602-S PT1/4 |12.5/ 10 |[16.5| 20 |30.56/ 3.2 | 8 14 17.5
PEB603-S PT3/8 |12.5| 11 |16.5| 20 | 32 | 3.2 | 8 17 23.5
PEB801-S PT1/8 | 16 | 7.6 |{18.5| 23 |30.5| 4.3 | 9.5 | 14 17.5
PEB802-S 3 PT1/4 | 15 | 10 |18.5| 23 | 33 |43 | 95| 14 20
PEB803-S PT3/8 | 15 | 11 |18.5| 23 |34.5/4.3 | 95| 17 26.5
PEB804-S PT1/2 | 15 | 14 |18.5| 23 |38.5/4.3 | 9.5 | 21 38
PEB1001-S PT1/8 | 18 | 7.6 | 21 |126.5| 34 | 4.3 | 11 17 25.5
PEB1002-S 10 PT1/4 | 18 | 10 | 21 |126.5/36.5| 4.3 | 11 17 27.5
PEB1003-S PT3/8 | 18 | 11 | 21 |126.5/37.5| 4.3 | 11 17 30
PEB1004-S PT1/2 | 18 | 14 | 21 126.56|41.5/ 4.3 | 11 21 42.5
PEB1202-S PT1/4 | 21 | 10 | 23 | 30 | 41 | 4.3 13 21 47
PEB1203-S| 12 | PT3/8 | 21 | 11 | 23 | 30 | 42 | 4.3 | 13 21 48.5
PEB1204-S PT1/2 | 21 | 14 | 23 | 30 | 45 |43 | 13 21 54

287




	页 1
	页 2
	页 3
	页 4
	页 5

